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Zh:(4000) 212 | 2:(4100) 21k 22| | &h:(4110) 218k 22| ISt (4111)018t2] 2te| HIAIE : (120) 3 & & ZH| (2] [ EH]
2 = ¥ oEd | oy 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
90,236 89,656 580(01 YLEt2Y|
o1, UBtA Y|
- olEEe U HE J|ELEY 4,560,0002 = 4,560
- 2004018 QAP =RXE(PH, SHE35, ZAH151)
10,0002 x2002 = 2,000
o3 . Z2Q2YMA
— T-AIZF A EDEZOIY AQJAFEF A2
4,325,000 x13| & x 12 = 51,900
- AN-BOIAEEAIAL2 D21 AIWFE3|M2
41,0002 x133| & x12€ = 6,396
- QOIABAFIIR2 S 50,0002 x13H Ax128 = 7,800
o6. 22|
- SXHS SEAZHADRR ZA
5,000 x60H x5 = 1,500




Zh:(4000) 212 | 2:(4100) 21k 22| | &h:(4110) 218k 22| Mg (4111) 81 2te| HIAIE : (120) 3 & & ZH| (2] [ :AH]
= = S H m
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
- SXHS AABA2LX 24
5,0002 x250% x5! = 6,250
o8. A2 H|
- DIYrTAl 22|02 499RIX95UXBAIZE = 380
o9 A& &Y S XY
~ OIALOIBAIE S X2l (13004 ) 9,450,0008 = 9,450
301
ot AL 7,192 4,132 3,060
6,592 3,532 3,060/08 222 RADAZ
oRU22QS
- =22 19,0002x2Hx 128 = 456
RN Y = 456,0002x2/12 = 76
- ZAlY 3,500 x2Hx252Ux 128 = 2,100




Z4:(4000) 21 &I 2+ (4100) el el 2tel ] g(4110)elgeiatel Mgt (4111)lgtel2te] NIAIE: (120) B & = I (=3[ dE]

o = NI m
ol & o oo & = ) x
2.8 HIE AIAIE < e T A
- D= 1,6008x22x25Lx 128 = 960
- DAQAEY Y JiEH| 3,000,000&x14! = 3,000
600 600 011 JIEt2 &2
oXFUADEY B4 30,0002 x102x25] = 600
200
Abed of &t 15,600 12, 160 3,440
220
A A el 15,600 6,160 9,440
405
Ttz S HI 15,600 2,160 13,440
15,600 2,160 13,440/01 AL SEH SH|
CRUFLAL-SHHRIDM (OIS, 2¥S A S)
200,000 2 x37H x4 = 2,400
CRAUALPHEHI| L0 2,200,0008x6M 4 = 13,200
4112
THerarel 303,935 270,372 33,563




Mg (4112) T 2]

NIAIEE: (120) B & A

=1l

(=3[ dE]

%4

H0

= ] )
A = J| x
B MIE . MAIE 2 A B =
100
A A 3,596
120
AN XA 3,596
201
U2 1,770
1,770/01 L2 H|
o1, Ut 2H|
ABRERUSH(AYUANSE)ITEIRY S
1,580,000 = 1,580
THHAIDOHE] SACUSSH(STCI SS)MSE MR S
2,890,000& = 2,890
Z2QLHA
Wuas2|e SUHE A2
50,0002 x1CHx 122 = 600
Hot line 8sS&3 AIEE 15,000& x6CHx12& = 1,080




g(4110)elgeiatel Mg (4112) T 2] NIAIE: (120) B & = I (=3[ dE]

™ = = u] im)
OH Ab = J| =
MIEt. K MIEt 2 o & o =5 A Y
- TSHA| OHR MRS YA BAAY
70,000& x12H x43| = 3,360
- HBHA| DIZH)|SRRCHE| 0 EAAL
70,000& x15H x23| = 2,100
o6. 22|
- MUSsAss 22X SAH2
5,000 x4H x23L x63] = 2,760
o9, AlE YIS XY
~ IO B A AE (2 IIOHEE A ) S X 22|
2,000,000 x 14! = 2,000
301
QEtE A2 3,592 1,766 1,826
3,592 1,766 1,826|08 2UZ2L2IABAZ
oRU22QY
- =3 19,0002 x2Hx 128 = 456




Z+:(4000) @1 &2 H| 2:(4100) 8l et 22| bl g (4110)el i 2te| Mg (4112) T 2] NIAIEE: (120) B & X A Y] [2E][ER: ]
o = v~ m)
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
- A0Z 456,00091x2/12 = 76
- SA| 3,500 x2Bx25UX12F = 2,100
- WE| 1,6002x2Bx25Ux128 = 960
200
AR O] &F 10,000 0 10,000
220
R A 10,000 0 10,000
405
RHabE S| 10,000 0 10,000
10,000 0 10,000/01 XA LS ZEF S|
SQUYPRIY(MARZE)PY (PER SAE 125)
10,000,000 = 10,000
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VEIEEES 273,973 254,006 19,967
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DI et 273,973 254,006 19,967
702
PIERSE = 273,973 254,006 19,967 oMt 2J12 N5 273,973,0008 = 273,973




5 (4210) 2222 B (421]) Aen s MIAIE: (120)2 A= 23 ) o mgl]
& m)
oo B i = ol x
A A
= 0 = 2.000.000 & 0]
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4210 = 0 = 2.000.000 o 0]
A8 2,079, 92.246] 1,986,954 LAl 79.200 7 0 B 0]
4211 = 0 = 2,000,000 o 0]
Aot 2.079, 92.246] 1,986,954 LAl 79.200 7 0 0]
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24 A0 A 79, 92,246 A13.046
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2 AR 2 | 79, 92,246 A13.046
301
SN 79, 92,246 A13.046
73, 86,346 A12.546/03 O B A8 XI 2 2|
o2 AUES YA
12,3002 x1,0002 123/ x50/ 100 - 73,800
5 5.500 A500109 BAFAIH 2 A2
COl2AMMIISAONE HAK DAY
5.0002x1,000 - 5.000
400 011 JlErE A
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o = oW g m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
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2,000,000,0002!x1.98/100 = 39,600
(%) 39,600
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